
Spiel 1 Spiel 2 Gesamt

Spiel 103 19:04 I 1 KÖCK Ernst 46 + 49 = 95

I 2 KRAHOFER Bernhard 56 + 68 = 124 # # #

Spiel 106 19:36 I 3 ÖLLERMEIER Fritz 58 + 62 = 120 O O

I 4 GÜNTHER Reinhard 53 + 53 = 106 # O

Spiel 108 19:56 I 5 STOLZ Martin 51 + 57 = 108 #

I 1 KÖCK Ernst 50 + 56 = 106

Spiel 110 20:15 I 2 KRAHOFER Bernhard 58 + 55 = 113 # #

I 3 ÖLLERMEIER Fritz 67 + 55 = 122 O O # # #

Spiel 112 20:33 I 4 GÜNTHER Reinhard 52 + 58 = 110 O

I 5 STOLZ Martin 56 + 53 = 109 O

Spiel 114 20:58 I 1 KÖCK Ernst 53 + 62 = 115 O O

I 3 ÖLLERMEIER Fritz 54 + 52 = 106 # #

Spiel 116 21:14 I 2 KRAHOFER Bernhard 55 + 58 = 113

I 4 GÜNTHER Reinhard 56 + 59 = 115 # # O

Spiel 118 21:35 I 3 ÖLLERMEIER Fritz 51 + 58 = 109 # #

I 5 STOLZ Martin 51 + 45 = 96 O #

Spiel 120 21:57 I 4 GÜNTHER Reinhard 48 + 53 = 101 O

I 1 KÖCK Ernst 46 + 41 = 87 O

Spiel 122 22:14 I 5 STOLZ Martin 54 + 64 = 118 # #

I 2 KRAHOFER Bernhard 59 + 48 = 107 O


